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SCHOLARS ACADEMY

[ General Awareness }

1. Foffed # 9 o ai o ool & e W el & Aid
TS 4t 7% A7 §5IgR &t g &R &l T8 i
In which of the following years was the ninth Guru of
the Sikhs, Sri Guru Tegh Bahadur, assassinated on the
orders of Aurangzeb?

(a) 1745 (b) 1675

(c) 1689 (d) 1539

2. Fufafad # 3 -1, @ T &1 e ifiaem T8 g2

Which of the following is not a characteristic of sound

waves?
(a) TR (b) Tif®
progressive Mechanical
(c) faggagaaia (d) 3reEA
Electromagnetic Longitudinal

3. U9 & g ot o WRelrg ST & Hobra & 3@ 9,
forg fofemr Sfet = 1857 & vym Tacar wum & ym a9
& fore AR & o1, 3 71 2014 H Gie i A
In which district of Punjab were the skeletal remains of
Indian soldiers, who were executed by British troops for
participating in the First War of Independence in 1857,
discovered in March 20147

(a) SR (b) SHIW
Jalandhar Amritsar
(c) dfdsr (d) ufearar
bathinda Patiala

4. Fofafed & 9 oF 91 TRIE Terd: s @ Wefid g2

Which of the following celebrations is mainly related to

Odisha?
(a) T amT (b) i fefwraT
bali trip Kang Chingba
(c) SfgaTEl Fam (d) e Higen

Ambubachi is dead

5. fFafeied # ¥ i faerftm B2 & 9 3 Hf &7 S 82

Which of the following is also known as Vitamin B2?

Hola Mohalla

(@) FaRAmRS (b) TSETRIfAT
niacinamide riboflavin

(c) umafA (d) TRAIBIETATHA
thiamine cyanocobalamin

6. HRGIA P 3FHYF URWG (ICAR) BT I el STHU
¥ Hal R far mar g2
Where has the National Banana Research Center of the
Indian Council of Agricultural Research (ICAR) been
established? ]

(a) foofermueet, affaTrg  (b) SiewIlG, HERTY

Tiruchirappalli, Tamil Nadu Jalgaon, Maharashtra

(c) TR, fagR (d) STH, HAleH

Hajipur, Bihar Belgaum, Karnataka

7. YRdT If3u™ o1 Te A dHat Ry WRRT Apial
3R QA T H % foIU 3R U HRar g

The One Hundred and Third Amendment of the Indian
Constitution provides for reservation for in
government jobs and educational institutions.

(a) MG TUIAFAGAR T (b) SFEIYfIA Sfd/SHI

economically weaker section  Scheduled Caste/Tribe

(c) o fog ot (d) Rei

Other backward classes minorities

8. fafafed & ¥ 31N U WiR® aus, § fRd g7

Which of the following monuments is located in

Lucknow?
(a) dSIHMHATST (b) HeIdd HhERT
Bada Imambara Mahabat Tomb
(c) SfSid TART &1 THIY (d) Tamiel fear

Ajanta Ellora Caves Golconda Fort

9. UiTdl ¥ <t RIcTedt ST 44 & U g5 & UGN BT
o Fafiiad § 9 SH-91 U1
Which of the following was a compilation of Buddha's
teachings around the fifth to fourth century BC?

(a) TS (b) Bftes
Tattvartha Tripitaka

(c) Sfaw= (d) SR geaH
Avesta The eight-fold heart

10. 3RE IR BT S A1 1T I YRA T USRI 87

Which island country of the Arabian Sea is India's

neighbor?
(a) Hdla (b) SSHRMET
maldives Indonesia
(CREISED (d) WHR
Sri Lanka Myanmar

1. FEfiREd § 3 $H-91 HRAT TR FaHPR] REde
e o 8 2
Which of the following Indian cities is famous for
Kalamkari painting?

(a) faemeToRrH (b) T@diS
Visakhapatnam Golconda

(c) BIHHT (d) HgaTT™
Kakinada Masulipatnam

12. QR 1947 0% U STHGRI & AR, YRA BT AfdeH
fore areht dfaem aw qew U1
According to the information received till December
1947, the Constituent Assembly that wrote the

Constitution of India had members.
(a) 230 (b) 275
(c) 299 (d) 245

13. WIRARR (Stereopsis) ¥ Jo! T fa=mwdr -

A characteristic associated with Stereopsis is —

(a) Sifg (b) TTH
eye nose
(c) SiH d) ®E
Tongue Ear

14, 3fe e Aifad Sferg M, S TR #1999 FS
ST TS 8, Pel R 8 2
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Where is the Indira Gandhi Memorial Tulip Garden, (c) NISTRH (d) TRES
which is the largest tulip garden in Asia, located? Rajasthan Uttarakhand
(a) BRI (b)
Dehradun Hospice :
© TR @) R [ Reasoning ]
Srinagar Shimla

5 e b fore PR & @ et 21. :Wgré?@Wu'&mW'ﬁ%aﬁWwaﬂﬁ'w
3T (@fae™ & AR Fuiia) sawas § ? —
What is the minimum age (determined as per the

= . 'Inflation’ is related to 'Deflation’ in the same way as
Constitution) required to become a member of the

'Accelerated' is related to '

Panchayat? :
(a) wfaad (b) da
(366) :;6?5? (Zt;) e?saﬁ reflex inten;g:c’r
year year (c) HQ (d) G
(© 18 (d) 287 recession race
18 years 28 years
: 22, fasdl g W &, ALMOND &1 BMNPOE & &0 H forar
16.  USITl 3 T8 T fera & AR TR fopd frgert faa 32 ST & | I HIST H MENTAL P e UsR ¥ forar smam?
Who has been appointed as the new Chief Secretary of In a certain code language, ALMOND is written as
Punjab? BMNPOE. How will MENTAL be written in the same
(a) SIRIPHR (b) it sraeft language?
Ajay Kumar Abhishek Awasthi (a) NFOUBM (b) NFQOBM
(c) TSI ST (d) SR (c) FNQOMB (d) FNOQBM
Rajesh Aggarwal Anurag Verma
. 23. U € U B i ffte Rufoat gxiig € €1 su u
17. o9 st o 3 it & e wreay ok gdters @ :
e g 21 oo 2 &7 ST SR GAM WR U] 3 areil RRUfd &1 709 B

Three different positions of the same dice are shown.

Which insurance company has started payment facility Select the position of this die the next time it is rolled.

for premium through WhatsApp and UPI?

(a) TSI (b) TTeTT3HRY 5 5 5
LIC Tata AIA 4 6 3
(c) Il Qferaiet (d) HRAT TeT I 4 6
Bajaj Allianz indian axa 3
5
18.  UYH HAI 7 P8I W HRA &b 1A 3 EEREIRES s 5 |
TR &g ‘HRd HESUH' BT IguTeH fobar 87 (a) (b)
Where has the Prime Minister inaugurated India's grand 5 /] 5
international exhibition-cum-convention center 'Bharat 4 3 3 1
I\;aér%g%pam'? . () d L
(a) : (b) - . :
Chandigarh JammG::g\nd Kashmir 24. ﬁqmﬁﬁq‘rﬁﬁwmtﬂwﬁﬁﬁﬁyﬁ@a
(©) W= d) R ;g B Uy g (7) & RIM W S T g
Ladakh New Delhi 2,6,12,2,30
Select the number from the given options that can come
19. Y IUUN "= T5H Ue RAMA MS" & o Agey in place of the question mark (?) in the following series.
Thapfor Wfe e REGR & qaId fosa mam 82 2,6,12,7,30
Who has been awarded the Miles Franklin Literary Award (a) 20 (b) 24
for the novel “Tea Time at Cinnamon Gardens"? (c) 18 (d) 26
(@) auf 3aarol (b) TR e _ ,
Rain Adalja Smita Agarwal 25. HRH&R—W%QW%W@WWW@W
() BN aEA (d) ST archt W%sﬁ?wm%ws{wwwwﬁsﬁ
Shankari Chandran Sameena Ali W%’rl
20. AR ¥ ugar Yiifed S T97 foew wrsa ® S T Four letter-clusters have been given, out of which three
? are alike in some manner and one is different. Select the
In which state was the first compressed biogas plant set of letters which is inconsistent.
built in the North-East? (a) RTUS (b) KMNL
(a) UelE (b) 3rEH (c) JLMK (d) 0Qsp
Punjab Assam
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26. DT ASIHAIP, Q R, S, T 3R U &l Ufadl H 981 51 T
i g Ui & Ot &1 Wl sfbal ST R a8 aiR
g 81 3 ) dfaa & 9 afeal 81 [ wsfaat
O3l e H 98T &1 7 31 P & U 931 51 R 31 U & 1T
TS A BISTF TAR QP ST H IS B SSH QP
U IS & 931 1 R P 31 UIS DI Tt TS 931 72
Six girls P, Q R, S, T and U are sitting in two rows. One
row is behind the other row. All the girls are facing north.
There are three girls in the front row. The remaining girls
are sitting in the second row. T is sitting immediately
behind P. R sits immediate left neighbor of U. S is sitting
exactly between T and Q. S sits immediate left neighbor
of Q. Which girl is sitting immediately behind R?

(a) TS fParSngdaIs  (b) P
cannot be known
() Q (d) s

27. Ffafea e | emad, 4 et & gxifar g, 9,
YR BT g=ITdT § 3R By, I Srieial ol
axifar 21 faftr wei 7 < 18 Gt 39 Juft & safaal &)
T P! =il B

(@) 14
(c) 18

28. UV B! 3T b TS 3R W M W, & TS 3P b
gdur § A 98t ufafds Tafd S|
Select the correct image formed in the mirror of the
given figure when the mirror is placed on the right side

of the figure.
1 ]
2 3
F A
(a) £ C (b) 3 2
3 3
o N
©) (@ £
29. I ey &1 997 B ol IR UG A I USHR Feifdd §
ford TR ¥R1 UG Usd UG ¥ Heifdd g

MUSCLE : CSMEUL :: WONDER : ?

Select the option that is related to the third term in the
same way as the second term is related to the first term.
MUSCLE : CSMEUL :: WONDER : ?

(@) DWNERO (b) DNWROE

(c) NOEWDR (d) DNORWE

30.

(@)
(©)

31.

(@)

(©)
32.

(a)
(c)

33.

(a)

M, N, O 3R P U Tid SRITad-B9 & URd: T gaR ¥
TIH G WIS B 1 E, F, G 3R H ot do& & aftbrferd 8 7T
BIMFHFIFIROANRGHF AT TGI8 P, GH a8
3R G VM W R H F T18 3R AR R W 3313
gﬁN, HPIFEI SRS, AFP IS AP I 2 AT S

M, N, O and P are sitting around a round office table at
equal distance from each other. E, F, G and H also attend
the meeting. M is sitting in front of F and between O and
G. P sits second to the right of G and third to the left of
H. If N is sitting opposite to H, then who are the two
people sitting adjacent to F?

H, P (b) P E

E, N (d D,H

fau mTu famed B O 39 i &1 o= Fiforg, < Ay
AHTA e & yyaras g (7) S RIF W 3 Java o
Select the figure from the given options which can come
in place of the question mark (?) in the following figure
series.

D’éleogLQ 2
[ [N «0
N

O ﬁ.o
.ﬁ_ (b) I
[N
Oe
2° @ B

I fdehed 1 g B Sl R T ¥ I YHR Heifdd
8, o ysR gt TRear ugelt e @ Tefda j1
23:299:24:7

Select the option which is related to the third number in
the same way as the second number is related to the first
number.

23:299:24:7
310 (b) 312
300 (d) 306

Fra & 12 il B S & Th ghe B HieH R Al
T HFTS B BIe P dild BT HH ST 7T § | BT Bl
G T W 98 a1 fgars 3 2

AR

(ii) (iii)

The figures given below show the sequence of folding a
piece of paper and how to cut the folded paper. How will
the paper appear when it is opened?

5 <
P b 4 9P
a v
o a

(b)

Mob. - 01141676717,9312712114
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(€)

34.

(@)
(©

35.

(a)

wind

(€)

engrossed

36.

(@)
(c)

37.

(@)
(€)

38.

(a)

brother in law

SCHOLARS ACADEMY

v FN
v v
Pq
o
v

br PP
v
v

(d)

afe "1 3 1+, @ 1 31 -, 4 B 3 x’ 3R $ BT o
21,4623 #21$3 @ 17 HTHA FTERN 2

If " means '+','@' means '-', '#' means 'x' and '$' means
'+, then what will be the value of 46 23 #21$3 @ 17?
466 (b) 353

190 (d) 299

P 3G AR Th A & URd: 1 & dag B 3R
g foru gu 3 gu gl Y, Wi & aTd gk ®IF | 9at
B PUNE, Ua & 314 gk WM W 931 g | 749, Ud7 &
MY AR WM W 9371 ¢ | A, a9 & 1Y 3R 3Rfde &
T STt B ST 1 R, 3RfYE % A AR R R 3
21 A ofR TR & offa & $H So1/a81 7 2

Eight persons named Arvind, Kunal, Nidhi, Pawan, Sahil,
Tanya, Tanmay and Sunita are sitting around a circular
table facing the center of the table. Nidhi is sitting
second to the right of Sahil. Kunal is sitting second to the
right of Pawan. Tanmay is sitting third to the left of
Pawan. Sunita is sitting to the left of Tanmay and to the
right of Arvind. Tanya is sitting third to the right of
Arvind. Who is sitting between Nidhi and Sahil?

Yad (b) =T

Tanya

(d) FHUm

Kunal

I G5! fabed &1 997 HITY, S i3 70 Treal & 39 A
) il ¢, g 7 # 3 3o sz H Hivg 81d B
Select the correct option which shows the order of the
given words in the order in which they appear in the
English dictionary.

1- Season 2-Seating 3- Sense 4- Sealed 5- Seize
1,4,2,53 (b) 4,1,253

4,1,2,35 (d 4,21,53

fau T fashedl § @ I 3&R-THE ST 9T Y, Sl
frufafad raar & vsaras fog (7) & R W 311 96T 8|
DNKB, GQNE, JTQH, MWTK, ?

Select the letter-cluster from the given options which
can come in place of the question mark (?) in the
following series.

DNKB, GQNE, JTQH, MWTK, ?

PZWN (b) QZWM

PAXN (d) PZXO

HAIY BT 3R Hebd D GY 3o 7 T Higel Y Dgl, T8
T 3¢ Bt A S O BT deT 311 oS BT T J 7 Hay
g2

Pointing towards Manish, Ajay said to a woman, 'He is
the son of my daughter's mother's father.' How is Ajay
related to Manish?

Sisil

aHg

(b) dT=l
Uncle

Mob. - 01141676717,9312712114

(€ TR (d) g
father in law Brother
39. 39 fdmcd &1 90 HY Sl AR 3HER-TE A I UHR

(@)
()

40.

(a)
(©)

ST § T TR GERT 31eR-TE Ued 3eR-THg I
e B

LGS : QHX : NDP:?

Select the option which is related to the third letter-
cluster in the same way as the second letter-cluster is
related to the first letter-cluster.

LGS : QHX : NDP:?
TIU

SEU

(b) TEV
d) SlU

U T fasredl § O 39 &1 BT 997 Fifore Sl Fafafed
gt & Uy 0% (7) & RIF W 37 9! g

192,179, 162, 2, 120, 91, 60

Select the number from the given options which can
come in place of the question mark (?) in the following
series.

192,179, 162, ?, 120, 91, 60

143 (b) 81

136 (d) 150

Arithmetical & Numerical Ability

41.

(@)
(©)

42.

(a)
(€)

44.

T YR H, UAD I, ¥ & SRY H ANl ot T H 3%
Tfa=Td 3fg g5 | IS I WER B GaHM SIHEeAT 30,00,000
g, a1 3 981 & aTQ e Bl

In a city, every year, the number of people at the
beginning of the year increased by 3% percent. If the
present population of that city is 30,00,000, then the
population after 3 years will be.

3277181 (b) 3217881

3278181 (d) 3281781

RABTell 4 Y BT TP A< 575 H WG], Afdh &1g T GRHAT
A1l FebTe & fore 506 # o faam| I foba wfd=rd
IR g31?
Shefali bought a set of cups for Rs 575, but later sold it
for Rs 506 to clear the old stock. What percentage of loss
did he suffer?
13% (b)
16% (d)

14%
12%

T At & AT & 10% 3R 20% $1 & HF Be
UERId $1 7S § | A T YA WR 5% BT SHfaRkad ge
& St 8, A Fhe YA B WRIGR! HRA WR e areht
$d ge 1T Bifor|

In a sale advertisement two successive discounts of 10%
and 20% are displayed. If an additional discount of 5% is
given on cash payment, find the total discount available
on making the purchase by paying cash.

40% (b) 35%

31.6% (d) 32%

e A:B=5:83RB:C=18:25aA: CIdPI
IfA:B=5:8andB:C=18:25thenfind A:C.
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(@ 8:5
) 5:8

(b) 9:20
d) 20:9

45. A 3R B, HT: 50000 3R 60000 FHT I Hb Th
HER & Ya= HRd §1 "X HeHI & a1g ¢+t 70000 Fd=
ISP 3P Y IS ST 3, a9 & 3fd X' FEIH UgS B 5
IRIER! @ Fed A g1 afd 3 20 18: 21 & U &
Y WIS B &, 1 "X’ BT HME J1d Do
A and B enter into a partnership by investing Rs 50000
and Rs 60000 respectively. After 'X' months C also joins
them by investing Rs. 70000, B leaves the partnership
before 'X' months from the end of the year. If they share
profits in the ratio 20 : 18 : 21, find the value of 'X'.

(a) 4 (b) 6

() 5 (d) 3

46. Bfe 3pd I AR &1 16 A H Ue wR Tl g, e
! BT I A4 AT TS T @I g | A 3 e
BT DA § o1 d fope fal 7 enel} dlar Ue o i
Medini alone can paint the entire wall in 16 days, while
Yuki takes three times longer. If they work together, in
how many days will they paint half the wall?

(@) 12 (b) 3

(c) 6 d) 9

47. OO ¥ 17 AT URE § TR e ¥ 9 T R B fbw
YT H UTga3ft o1 fArsior fopam ST i afdb o Ot &
12 AT 4R B 9|
Gold is 17 times heavier than water and 9 times heavier
than copper. In what ratio should the metals be mixed?
So that they become 12 times heavier than water.

(@ 4:3 (b) 7:1

(c) 3:5 (d 3:2

48. TRYJ 3R K B 15 e ok 20 e H 0 & R
d ¢ AfS TH1 UTSY U 81 WY U@ 91y @i fod S g,
@ EH BT WA | fora=1 ww e

Pipes J and K can fill a tank in 15 minutes and 20 minutes
respectively. If both the pipes are opened
simultaneously, how much time will it take to fill the

tank?
1?’i fre 1 12 fiqe
@ 2 b S
60 /e 8t frge
) @ 7

49. 6% e TS BT G J 2500 W 2 I 3H61 H firem
T STl fareT gT?
What will be the interest received on Rs 2500 in 2 years 3
months at the rate of 6% annual interest?

(a) 423.50 (b) 445

(c) 337.50 (d)y 375

50. U JAGT 1 9% TR TS W YRI IYR T 3R 3 3
Iuf & fo1T 10% Thgfa s WR e fasan| 3 9y a1g 39
1952 1Y UT 3111 I8 bt &rRIRI IUR it o

A person borrowed a sum of money at 9% simple
interest and invested it at 10% compound interest for 3

(@)
(©

51.

years. After 3 years he got profit of Rs.1952. How much
money did he borrow?
30000
33000

(b) 32000
(d) 32543

3. WId U8 & e P 3R Q Bt 3R T 0Td 3 : 2
7| IR qY §1G 3D! 3R HT 3JUTd 8 : 7 Bl S| P Bt
31rg fepat 2

Six years ago the ratio of the ages of two persons P and
Q was 3 : 2. After four years the ratio of their ages will be
8 :7. What is the age of P?

(@) 10T¥ () 1239

10 years 12 years

(c) 14@d (d) 8d¥

14 years 8 years

52. i Semeft &1 3id 28 B 1 Ife Gad BId Y= H 7 Sig

—
Q
~

—
O
~

53.

(a)

(c)

54.

(a)
(c)

55.

foar STu iR god <) G | ¥ 10 ver fear e, f "
Il 3 JHTIR A1 3R 3Mhs! & 39 ¢ I BT IR
20 B 91T B 1 31 i TRemaht & gd o= &) 9o §a
e T 77

The average of three numbers is 28. If 7 is added to the
smallest number and 10 is subtracted from the largest
number, the middle number becomes the arithmetic
mean and the range of this new set of data becomes 20.
What is the largest number in the original set of these
three numbers?

47 (b) 40

45 (d) 50

TP & I R L §s ol BR A 3R B T g ¥ famsid
=T & Frerd gu t 9¢ a1 e § SR e & ae &
U sﬁ%fﬁze‘a‘%aﬁmﬁmmuﬁﬁél Ife HR
A DI 55 foberiHieR/eer g, dl SR B o1 Tfet o gieft?
Two cars A and B, starting at the same time and moving
in opposite directions, meet each other after t hours and
reach their destination after 5 hours and 6 hours
respectively. If the speed of car A is 55 km/hr, what will
be the speed of car B?

6612 km /hr
110

?E km/ hr ”

T YA 435 fob it Y ¢t 2 1@ 30 e H qg a1 B
U@ 91 Hiex Ufd Yohue & J1d Biforg|

A train covers a distance of 435 km in 2 hours 30
minutes. Find its speed in meters per second.

474 (b) 45.8

435 (d) 483

TP A4 & SWR B 3R 60 km DI g a0 B H Th
TATA BT 8 G AT § Safh 14 DI 3R JAM g8 0
TR 8 5 ¢ T & | FRR urt & W=aran &t 1 o gt
A rower takes 8 hours to cover a distance of 60 km
upstream of a river and 5 hours to cover the same
distance downstream. What will be the speed of the
rower in still water?

) 110km ' hr

%ﬁmm
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@@ 9.25km/h
(©) 9.75km/h

(b) 9.80 km/h
d) 9.5km/h

56. U 3MIId forIdhT ST 4 cm 3R 2 cm ©, I TH JHETG
B F9M & forg MeT ST |1 39 UHR I 5 gHeETg
BT &7 &th e T g
A rectangle whose dimensions are 4 cm and 2 cm is
folded to form an equilateral triangle. What will be the
area of the equilateral triangle formed in this way?

(@) 4V3 cm? (b) 63 cm?

(c) 9/4+3cm? (d) 2V3 cm?

57. TUNRR 907 (G. P.) % UGS o USH & TN SR Ugd ©: UGl
% TNT HT 3UT 125 : 152 8| G.P. BT AT T FTL?
The ratio of the sum of the first three terms and the sum
of the first six terms of a geometric progression (G.P.) is
125 :152. G.P. Explain the general ratio of?

(@) 4/5 (b) 5/3

(c) 5/4 (d) 3/5

58. &1 137 SR, Bicidl & 77 BB & Th GG Pt W
TS drel BT Ufaia $Ral g | i 9 A- dsfied, B
— Sipeaid 3R C - 9 § 1 fba B T8 § off sikdpeaial
Qe UG B ©, Al S g1

The given Venn diagram represents the sports
preferences of a group of 77 college students. Three
sports are A — Badminton, B — Basketball and C — Tennis.
How many students like to play basketball but not

tennis?

(AN
(@) 17 (b) 24
(c) 35 (d) 15

59. TS sind - cosb = 0%‘, T sin®® + cos?® + tan*® &1 HM
ERINHIF
If sin@ — cosB = 0, then what will be the value of sin*0 +
cos*0 + tan*6?

(@) 5/4 (b) 372

(c) 7/4 (d) 2

60. fagall (-5, 5) 3R (7, -3) AT XWAT-WUS F 3D FT Y 3
-1 % 3fguTd # fauTorg & ara fig & fFdwrie & g2
What are the coordinates of the point which internally
divides the line segment consisting of the points (-5, 5)
and (7, -3) in the ratio 3: 1?

@ (-2 3)

(c) 5/2,0

(b) 4 -1)
d .10

| HINDI |

61. TR HGITH (1) MG g, 3TY (U 5T b 9ga H
Y 4<T I 30 oIy 1S 91d 16T ATed | ST YR B

aTE g1 P U A I Sfcfa 7 17 8 - I o 3T
DI YU YHTT ST 45T T T FHTHf & Ul giet & foraT
() TUHIG 3fPhd H W el Sfch IR (4)_ THN TR
TS Yobdl & | 4G Ueb Ut 3ayui (5)_ e R ew

Pae T ¥ UAFRRET & Uebe &d &1 779 ushi & I
JIRIG TR & SHTYR TR aiford | T o Rad RIF (1) &

T oI Iugad Tee NT-
(a) (b) Hrifers
() e (d) GRS

(@) TS (b) =

(c) @il (d) SRPR

63. EW TERTS &1 UdT 7 A7 Tob' I & I Th WMo
(a) STMY (b) TR

(c) Smmy R

64. ‘B BT [qaH eg ENTI-

(a) B3I (b) Ug

(c) HY (d) X

65. 0 etk & Wel 31 & ad HRA ardl fadhed &1 TaH
H | T W ARAT

(@) BHI U AT (b) ORTPT HRAT
(c) WSS HAT (d) YOd HAT
66. U T e &1 fadA 9| 3R

(@) faE (b) 3fRIE

(c) HARIE (d) s

67. Ta- Bl P W HIF-TT A [k 37

(a) omfagamsh (b) UfdeRi®
(c) Sfmert (d) IR

68. 0 geTaR & wel ol B I FHRA 1 fAdey H1 Ig+
HY| A1H-4f Ryeprgn

(a) I §dMT (b) UHS HAT

(c) O HA (d) SR HAT

69. fAU U AT HT I8 U 1 o Forgd dis Ffe 31 afe B8
TR @ B IR TR Fpaa ar ghw () R fara

2) wuTETd @ (3) T ford (4) P Ffe TR ]I
(a) &8 I T3 (b) U ford
(c) WRfard (d) YuHrE™ B

70. o =M &1 yfd & e 99 Iugad Wsg &1 994 B | 77
TS I aP 3D Uem__ |

(@ @t (b) B

(c) Ferd (d) <=t

71. %ﬁﬁﬁ%ﬁ%ﬁ?@'@%%ﬂ%%
(a) POW (b) TTpTIH

() S (d) SHIaifRIE

72. &0 T iR & foTU U Req gMATI Sl ¢ 7 S 9o
(a) sfew (b) 3

TUBH TR HIIY (2)_ ¥ wrzrd g o fopdt siwr R -
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(€)

73.

(@)
(©)

74.

(@)
(©

75.

(a)
(€)

76.
(@)
(©

77.
(@)
(©

78.

(a)
(€)

79.

(a)
(€)

80.

(@)
(c)

81.

(@)
(€)

82.
(a)

STy
T8 UTST &) HIoH Fdl 8| Weg TG & VI R I s

fafgu
(b) HARR

TR
SRR (d) STHER

I SIRT S I 3T § | TWifhd WS & RIM R GERT s

(d) SisId

TR pifora|
SHIY (b) ST
ERA CEEISIEED

ﬁi@ﬁ%’mﬁﬂﬁlwaﬁm

ugdt gl
(b) ﬁézﬁﬂ%’r%
(d) R-

fqu Tq arr
I TFE,
-
g B

W%‘rﬁ%

fau U wree & THF Weg BT T B | faeTelt

Rt (b) ErerfAHT
et (d) Tl
¥ &1 fadT Treg gRT-

37 (b) |
qihg (d) a

Rad RIM &1 U & fOIe o Iugad fadhed &1 79 d |
HeR &I W0 W RT3, 98 [l d1 a1
WBER (b) WRATE

ESN! (d) <=7

frafafed vy #, 3T T IR fawe § 9, 39 fawed &1
gﬂ;ﬁﬁﬁgﬂﬁ%ma{ﬁmm%luﬁww

TRURE (b) a2y

&1 H1R (d) ST 3rgHdl

g I1d ST SEICTYRY § Tefd! 3 g} 81 i & forg
JUgad g, BT

ga=it (b) Wdii® farg

fa (d) fhaddt

[ English ]

Comprehension: In the following passage, some words
have been deleted. Read the passage carefully and select
the most appropriate option to fill in each blank. Life is
not about making lists and trying to be one step (1) ___
of others. Stop being a workaholic. Take a (2) ___. Do
whatever makes you feel happy and (3) __. Most of all,
spend time in the (4) ____ of nature to pick up some (5)
___lessons. Select the most appropriate option to fill in
blank on. 1.
forward
ahead

(b) away
(d) front

Select the most appropriate option to fill in blank no. 2.
recess (b) blow

(€)
83.

(a)
(€)

84,
(a)
()

85.

(a)
(©)
86.

(a)

88.
(a)
(c)

89.

(a)
(c)

90.

(a)
(€)

91.

(a)
(€)

break (d) gap

The following sentence has been split into four
segments. Identify the segment that contains a
grammatical error. The cat / drank the milk / before we /
return home.

drank the milk (b) return home
The cat (d) before we
Select the most appropriate meaning of the given idiom.

Games is up
New scheme has been (b) Game is over and winner
launched declared

Deception is at an end (d) Plan has been executed
Select the option that will improve the underlined part of
the given sentence. In case no improvement is needed,
select 'No improvement required'. Reading not only
helps to pass the leisure hours as well as keeps you well
informed.

No improvement
required

but also

(b) along with
(d) andeven

Select the most appropriate ANTONYM of the given
word. Never
Always

Sometimes

(b) Rarely
(d) Seldom

Select the most appropriate option to fill in the blank.
You should pay a little more attention to your ____
apportion (b) apparition
appearance (d) apprehension

Select the INCORRECTLY spelt word.
Buying (b) Bouncing
Boxing (d) Begining

The following sentence has been divided into parts. One
of them may contain an error. Select the part that
contains the error from the given options. If you don't
find any error, mark 'No error' as your answer. Do you
mind / whether | use / your telephone?

Do you mind (b) your telephone

No error (d) whether | use

Select the most appropriate ANTONYM of the given

word. Retreat
Advance
Promote

(b) Push
(d) Strengthen

Select the most appropriate option that can substitute
the underlined segment in the given sentence. If there is
on need to substitute it, select 'No substitution required'.
The actor along with his new wife is expected shortly.

No substitution required (b) are being

are expected (d) has expected

Mob. - 01141676717,9312712114
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92,

(@)
(©

93.

(a)
(€)

94,

(a)
(€)

95.

(@)
(©

96.

(@)
(©

97.
(a)
(©)

98.
(a)
(c)

99.
(a)
(c)

100.

(@)

(€)

Select the option that can be used as a one-word
substitute for the given group of words. Life history of a
person written by someone else

Autobiography (b) Biography

Biodata (d) Resume

Select the most appropriate synonym of the given word.

Retrieve
Remove (b) Retain
Rescue (d) Recover

The following sentence has been split into four
segments. |dentify the segment that contains a
grammatical error. Millions of people / have been
protected / from polio by a fluid / called as a vaccine.
have been protected (b) called as a vaccine
from polio by a fluid (d) millions of people

Select the most appropriate synonym of the given word.

Achieve
Accuse (b) Adjoin
Abduct (d) Accomplish

Select the option that can be used as a one-word
substitute for the given group of words. A person who
physically attacks another
Convict

Scoundrel

(b) Culprit
(d) Assailant

Select the most appropriate option that can substitute
the underlined word in the given sentence. 'Angulimala’
lived by training travellers and feared no one.
disillusioning (b) distilling

plundering (d) mischallenging

Select the option that can be used as a one-word
substitute for the given group of words. One who has
fixed opinions and beliefs
Broad-minded
Rigid

(b) Flexible
(d) Amiable

Select the most appropriate option to fill in the blank.
Candidates who successfully complete the entrance test

will be ___ for an interview next week.
encouraged (b) asked
invited (d) required

Select the most appropriate meaning of the given idiom.

Drag one's feet

Do something (b) Have a disability in the
deliberately at a slow feet

pace

Be hurt badly on the (d) Find it difficult to walk

foot fast

Basic Familiarity }

101. FEET D GG P AU YRIY Bl ....oo... GRT GART T1
T
The description of the battle of Kurukshetra was narrated
to Dhritarashtra by ..........

(@ I (b) HYGTER Madhvacharya
Shankaracharya

(c) TS Sanjay (d) aeaHrETS

Vallabhacharya
102. T[Tl QP §97 & §1G gHRY A HIERM Pl [FIR 3R
Wig=a T SISR < oz a1 Aard &7 &1 SieR 5
feam
After becoming the Mughal ruler, Humayun gave the
rights of Hisar and Sirhind to Kamran and to whom did
he give the right of Mewat region?

(a) TEaTd Hindal (b) PR Akbar

(c) SH WM Bairam Khan (d) T Tquft Al of them

103. fofexT SR 471 BIccis &I fordd RIM R wifd &I gaF &
fere fAga fovam T e
The British General Van Courtland was appointed to
suppress the revolution at which place?

(a) Thanesar (b) @R Hisar

(c) WIgT Sohna (d) <RI Tosham

104. 3RTGe UBISAT AN & ......... HIT H TS St §
The Aravalli hills are found in the............ part of Haryana.
(@) HY Central (b) Gf&roft Southern
(c) IR North (d) Ud East
105. WIeR & & 3faifd fr &1 1 firgh et 22
Which area’s soil comes under Khadar region?
(a) ST & plain area (b) TBTS! & hilly area
(c) e & Sandy area (d) SR & Bangar area
106. foa 1o Ut & wRor gRamon & ghal ot ke
Sgdrd H g7
Due to which geographical nature, number of lakes is in
abundance in Haryana?

(a) IR-gd A Rarfers (b) femr o eRTae ugIfSal
TeIfeal &t SufRUfd the P JURRUFT Aravalli hills
presence of Shivalik hills in the south
in the north-east

(c) W 3R & EFl ‘a’ and ‘b’ (d) T faund AgH 8 having
both a vast plain

107.  BRAT 9 fadebr AT (HFDC) fiifics &1 RITGHT &e Bt
LERI
When was the ‘Haryana Forest Development
Corporation’ (HFDC) Limited established?

(@) ALl 1989 (b) HTE 1989

January 1989 March 1989

(c) 3 1989 (d) fedsR 1989

April 1989 December 1989

108.

gﬁuwmaﬁqmmmm%maﬁaaﬁﬁm

Which part of Haryana comes under the foothills of
Shivalik hills?

Mob. - 01141676717,9312712114
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(a) JWR-Ydl UFT North-
Eastern part

(c) STR-URH UFT North-  (d) HEITA! HFT Intermediate
Western part part

109.  SHIHIS Y&H Taraggd IRAISHT Bt &TdT fha 872
What is the capacity of Kakaroi Micro Hydroelectric

Project?
(a) 50 fraliare 50 Kw (b) 75 foatiare 75 kw
150 fararare 150 kw

(c) 100 fedmare 100 kw (d)
110. g9 H fIceh-Yaret Yad e 3R ¥ad & [y Hed &
ST BT FRA B2
At present the Delhi-Rewari railway line works under
which division of Northern Railway?

(a) faeeh Wb d Delhi Circle (b) WWRewariCircle
(c) RER IS Hisar Circle  (d) WiIgETe f&dioH

Faridabad Division

111, gRaon 3t {59 fRymay & SRE gFud &1 grfa-

(b) Qﬁf'l-l'l"'[ Eastern part

T Y7?
During which assembly of Haryana Panipat was
reconstituted?
(@) oRRT third (b) TiEdl fifth
(c) T34l Eighth (d) df Ninth

112, gfamon o fafie ot wiftieor &1 qee™ Sgi 82
Where is the headquarters of Haryana State Legal
Services Authority?

(a) UEPHAT Panchkula (b) CIUI Chandigarh

(c) 8dH Rohtak (d) 3fSTAT Ambala

113, g damdt e Siffad, 1994 & SRR, foram ufkeg
B TP AW 93P § HHB FueH F o srazas
HRA 32
According to the Haryana Panchayati Raj Act, 1994 , what
is the quorum required for the business to be transacted
in a special meeting of a Zilla Parishad?

(a) PAVCHN HITH [dgls  (b) IRAT B 39 9T & fag
One-third of the total JARd Tl BT YT
members half of the members
actually serving for that
time

(d) T G BT 3T Half

of the total members

(c) dRad ¥ 39 91y & forw
JaRd Tl BT T
ﬁﬁ'l'sc one-third of the
members actually
serving for that time

114.  BIoR) I U =0 I fry foral & fRua 82

In which district is the hosiery industry majorly located?
(a) 8a® Rohtak (b) i@ Bhiwani
(c) SidTell Ambala (d) TR=UM Gurugram

115, Ca3I5+1! TRY HeIdd 1 SIS a1 STl 8
Devothani Gyaras festival is organized

(a) PG ARHIYIAUL  (b) U HIE BT Yo U&
Shukla Paksha of Kartik Shukla Paksha of Paush
month month

Mob. - 01141676717,9312712114
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(c) WY HIg PI HWT Y&
Krishna Paksha of
Magha month

(d) ™IFT HIg DI W Y&l
Krishna Paksha of
Falgun month

116. BHIS &1 e fog T & YT 82
In which city is Kanod fort located?

(a) AR Narnaul (b) II%?"'I?_{Mahendragarh
(c) YTIRR Thanesar (d) g Hansi

117. RN &t 98 f9=net T ufds sha & &t g off aRf 3R ¥
Taeh! 87 Which is the huge and holy lake of Haryana
which is paved all around?

(a) U HiE Kapal (b) ] WIR Falgu
Mochan Sarovar

(c) WfAd W Sannit (d) & WK Brahma
Sarovar Sarovar

118, 1T g¥de 7 U& ORI e fom..
King Harshavardhana wrote a famous play

(a) SIcSIfel Brtanjli
(c) NTHG Nagananda

(b) RTAMM Narayniym
(d) sqﬁﬁaﬁé:@ none of

these

119. &R ¥ Infed fren wR SR &« faar mare

When was the emphasis on organized education in

Haryana?

(a) 1830-40 & IoRd (b) 1820-30 & oG
Sqlad & d1G After the Sqlaxd & §1G After the
revenue settlement of revenue settlement of
1830-40 1820-30

(c) 1840-50 & oG (d) SWRITdH Y DIs 78!
SCIed & §1G After the none of the above
revenue settlement of
1840-50

120.  BRETON BT MBI T B A1 72
Which is the popular game of Haryana?
(a) SR Boxing (b) Wedid Football
(c) fode Cricket (d) a8l fafeET Body
building

121.  Fgfafed & 3 &4 91 ifRe b BT R TR 32

Which of the following is the Second stage of
motivational cycle?

(@) IO H HH (b) IS Arousal
Reduction of arousal
(c) 3fdHIg Drive (d) 3MTaRgSHdT Need

122, i e Q GfqH=Ie sr<al & '1.Q. ST el Aufl BT Ul
T -
With regard to the scientists and the animals they used
in their experiments, one of the following is a wrong pair
(@) 41-55 (b) 131-145
(c) 146 9 3fYF 146 above  (d) 116-130

123. wm%mmwwmﬁw
?

Who discussed the concept of Latent Learning in his

theory?
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(a) =d Hull (b) USRI Bandura
(c) <IaHH Tolman (d) TRY Guthrie

124. YR gRI AfRId P BN BT YR T 2

What is the basis of the Classification of personality by
Kretschmer?

(a) RIRG AT 3R
fopanfafd Physical
formation and built

(c) TTHINI® YIS social

interaction

125. ?ﬁ%ﬁ@ﬁﬁﬁﬁ'ﬂ%ﬁ'ﬁwﬁaﬁ

(b) HI Values

(d) IdHId Nature

Out of the following which Psychologist is not related
with 'functionalism'?

(a) faferas S=g William (b) S f&at John Dewey
James
(c) R 3R, U JamesR.  (d) 3.8 f&@R E.B. Titchener
Angell
126. FofaRad & ¥ fod IRR O3 3 Ared e
3ryoft S femae

Which of the following physiologist did pioneering work
on classical conditioning?

(a) IS¢ FUGA Albert (b) NTG. FRBF.
Bandura Skinner
(c) faegH gue Wilhelm (d) 39 UEdd Ivan Paviov
Wundt
127. Hfdda AIGH i AGIE e g -
The subjective method of personality measurement is-
(a) HfFTd Sfas™ (b) ¥ Ao Aot
Personal history Sorting scale
(© IRy (d) s Wewd whawm
Rorschach test Word association test
128. Jfs oiRfopma®d _ Rygia &1 fo9d 9 o et
Rrgid g1
There are principles of growth and development.
One of which is the cephalocaudal principle.
(a) 3 (b) 5
(c) 2 (d) 6
129. &M H Il & eRI & 79 & oo vl &I

T HRA & AR T SR ITD YR TR g1 Ffifa
B DI IGIAT ST fh TP IGERUT 82

Giving students the opportunity to discuss their
experiences of celebration of festivals in the classroom
and building upon that information is an example of

using-
(a) AIGRAIG Behaviourism (b) Y& FIETH Direct
Instruction
(c) IS W=-aIG (d) UTE-Gead SeRd
Social constructivism MY Textbook

centred teaching

130. EHIES TG 998 & DT 3eqT BT ¢ |
Cognitive psychology studies man's:

Mob. - 01141676717,9312712114
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(@) TR Thinking (b) Ffd HTST Memory
language
(c) RO HUAT Perception  (d) SURIG THt All of these

imagery

131, Fofafea & 3 o siftrm o1 aeed Rigia 7€ 82
Which of the following is not a associative theory of
learning?

(a) R ey Rrgid (b) TReTee RIGHd Gestalt
Classical conditioning theory
theory

(c) SEuF-srgfbarfigia  (d) fobar-Te e Rigia
Stimulus-Response Operant Conditioning
theory theory

132. FafoRad & 9 fo IR faxivarstt & fawait a=it &t
RGHT A AT Y ST 52
In which of the following physical characteristics learning
disabled children differ from the normal ones?

(a) 9B IHT 9T 3R (b) TS &HATSN BT ¥R
?rITrﬁH%'They are all the YH-AY Poor
time clumsy and coordination of motor
awkward abilities

c) s, a9 3R Wy
Height, weight and
health

(d) T All of these

133, "RRY ezl T = & e 3g IgHad eH
&1 TN faan ST a1fge | dgdac) e § arad -
"In teaching children with special needs multisensory
approach should be used." Multisensory approach
means -
(a) TG, yaur, e, W= (b) TG, YAV, IR,
Visual, auditory, smell, Visual,
touch auditory, vestibular,
cutaneous
(c) FgFTY, Twy, wj, (d) %@, ™, T,
a@g?ﬂ Cutaneous, aéﬁfﬂ Auditory, touch,
visual, touch, vestibular cutaneous, vestibular
134, TAHA & AR, GIRI B! THGA' BT HIA HIGATHS
e & T 3mam & 3idiq 3T 82
According to Golman, the skill of ‘'understanding others’
comes under this dimension of emotional intelligence
(a) GHIfS® Y Social  (b) 3T 3IdY Self contact
contact
(c) 3T USEH Self (d) T BT EREfT
management Maintenance of relations
135. ffa & U@ yeR § Fafafad o § oH-w1 afmfn g7
Which of the following is/are counted among the major
types of thinking?
(a) TR ffd Divergent (b) FRTHATH® T dlfdheh
thinking fid deductive and
logical thinking
(c) YOHIED AT creative (d) SWRIGd I All of the
thinking above
136. e ure” & IR § <= B ardd HHIGTINS DI o7
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The Psychologist who discussed about “Instructional
Scaffolding” is
(a) ot Piaget (b) CIRHIRS Vygotsky
(c) g Bandura (d) SR Bruner

TG P AT SATNTH b =R BT GE HHS -

The correct sequence of phases of Bandura’'s social
learning is -

(a) SHIAIHH, &M, QYR (b)  S(aaieH, &I, TR
3R SR 3R HfayRom
Observational, Observational,
Attentional, Retentional Attentional, Motivational
and Motivational and Retentional

(c) SadIH, UAURON, &H  (d)  3fadidH, WdeRoT,
3R DR TR 3R &
Observational, Observational,
Retentional, Attentional Retentional,
and Motivational Motivational and

Attentional
138.  HHRI® fAem & o=l Tfsharers TR &1 Th

Teayuf e 8
An important characteristic of 'formal operational stage
of mental development' is

(a) \?ﬂﬁﬁ?ﬁ abstract (b) H\?H%IT‘FT concrete
thinking thinking
(c) IS fid  social (d) SHTEBIEd TR
thinking egocentric behaviour
130. TEH TR W AFRG 0 3 He &
Moderate mentally retarded are
(a) WRREAARE EIT  (b) Riféd 7amRke U g
H¢ Trainable mentally Educable mentally
retarded retarded
(c) SRMAMRIG TUY  (d) TS ARG U 4 Hg
He Custodial mentally Readable mentally
retarded retarded
140. Fufafad & § o1 w1 wdet grr aftfa te veR @t gfs

T 87
Which of the following is not a type of intelligence
described by Sternberg?

(a) aifbe-mordia aa (b) SFIHIATHS I
Logical-mathematical Experiential element
element

(c) UCHEdd (d) "eHfE @ Contextual
Componential element element

141. U faaR 3@ S@uRon & fmfor § e ufosan
S 7, Hiferp quT SuAnht 3, 1 Hgad 67
The Thinking Process involved in productivity of an idea
or concept that is new, original and useful is termed as
what?

(a) FGoIATHS T Creativity (b) JUAfSI Achievement

c) Ej@ Intelligence (d) WPersonality
I S gRT YATAd WRa- & gIIcRUT &1 RIgid §

The theory of transfer of learning proposed by Charles
Judd is

Mob. - 01141676717,9312712114

(@) THM ddl &1 gl

()

143.

(a)
(€)

144.

(a)
(©)

145.

(a)
(©)

146.

(a)
(c)

147.

149.

JHAdBRT o1 Rigid

Theory of generalization

(b)
Theory of identical

elements

TGN BT RAGid Theory  (d) RIFIIRUN &7 Rigid

of ideals Theory of transposition
D T SR BT Ueh gl 57

Which is not the component of motivation?

TTRIHATE Needs (b) TeTHRI Rote memory

Drives (d) UIITE Incentives
U, O, RET BT sMagdar @t RS &
Hunger, thirst, need for security all are motives.

P Artificial

Social

(b) 3HfARMET Acquired
(d) WIPHfdd Natural

NEIE %‘ 951 % SFER, PRI ol 7RE 4 T
|

According to the theorist Bakken, adolescence is a

as a whole.
SIS U political  (b) g e
incident philosophical incident
JHIST® °eT social (d) WipTd® g cultural
incident incident

IR T BT Th ASHT A0 B Befl T AT 3, et og
15 Y B 1 Ufe ISP HHRID 31 18 Y &, A 3T IHH!
IS FY Ja H 2

A boy named Suresh falls in Rajesh’s class, whose age is
15 years. If his mental age is 18 years, then you will gain
his intelligent Quotient as?
75

120

100
125

(b)
(d)

PHIdqe! P e by Rigid & g =R # ds o
e e AT o1 aRuifitid BRd 82
Reinforcements like punishments define moral code in
which level of Kohlberg's Moral Development Theory?

faww Sfaean (b) - Post-
Heteronomous Morality conventional
URUR® Conventional (d) Uﬁqﬂq% Pre-

conventional

fafafad # ¥ ©F 91 Sed gRT duR a1 a1 afada
TR 87

Which of the following is a personality test created by

Cattell?

g qufdr afieror (b) TASSHI-UHUH3TE NEO-
Sentence Completion FFI

Test

Tidg Afadad HR® d) foguy @1 Ada @ey
gyl (Read= &ﬁcﬁa@ﬁ) Locus of
T T Control

Wﬁ?) Sixteen

Personality Factors
Questionnaire

forg TSt Uik 9= &0 99 H 81 3fud e
YfieTE TRad &7
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In which socialization process children learn appropriate
gender roles at an early age?

(a) e fANIHRT Gender (b) T Ffeawar Gender

- Differences - Stereotypes
(c) difT% UGIH Gender - (d) T UHR Gender -
Identity Typing

150. &= & MW ATy & for Ry Surd v A1fge?

What measures should be taken for language
development of a child?

(a) oA H B U (b) IS I H TrfAS
TANTRITATE §9HT Making fR1&T &1 Giving primary
many language education in national
laboratories in school language

(c) SIS Yo H grufiies (d) TTqUTST & ol fRien
fRra &1 Giving primary 5l Giving primary
education in English education in mother

language language
151. TR & AR 12 ¥ 20 94 & Y I & fad Bt
ARG SiawT Biell &

According to Erickson the psychosocial stage of a person
in the age group of 12 to 20 is

(a) QI SRTYSTY (b) TSI §H UgAH YH
Initiative Vs Guilt Identity Vs Identity
confusion

(d) fayr s=re sfayrg
Trust Vs Mistrust

(c) SIARITAT §H 37T
Intimacy Vs Isolation

152. U fJOR 3aT SfayRon & fafor & JaTRe wfesan
S 7€, Ao quT Iuantt 8, o FEard 82

The Thinking Process involved in productivity of an idea
or concept that is new, original and useful is termed as
what?

(a) YOHTES Creativity  (b) SUdsd Achievement
(c) §@ Intelligence (d) WPersonality

153.  Sfdhdl & g TaHTa &1 s A frad Teaiferd fsar g 2
What did Freud consider the paternal love of girls?

(a) SISO WG IRy (b) ST YTGT U Electra
Oedipus complex complex

(c) TGUH YT Narcissism (d) a1 Y Feeling

of dependence

154. TG SIS gRT YT YR~ & gXiaR0l &1 RIgid §
The theory of transfer of learning proposed by Charles
Judd is

(a) THM Il &1 gl (b) TR HT Rl
Theory of identical Theory of generalization
elements

(c) 3mexif &1 RIgid Theory

of ideals

(d) RIFRU &1 Rigid
Theory of transposition

155.  ggi/3Aqe gRI AR HNfIwH & 5y Guer &1 387
which school of psychology introduced the concept of
learning by insight?

(a) YIS [TARYR)/AUGH (b) HdERAIG U™
cognitive school behaviourist school

(c) TReTee Wver™ gestalt (d) Y&TIaTE functionalism

Mob. - 01141676717,9312712114
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school

156. I T SRR HT e Tl 87
Which is not the component of motivation?
(a) JTALIHATE Needs (b) Rote memory
(c) 3G Drives (d) UIITE Incentives

157. {31 oieont & U Uy a1 S WA g1 & o I8 fawm
Il B § fob ot safaa & oy At 18 fopait emramd &2
Which tests include questions or tasks that are supposed
to show how many measured abilities a person has?

(a) TGd GI&ITT Retardation  (b) TRl URIETT Simplicity

Test Test
(c) O URt&ur Density Test (d) g@uﬁ&m Intelligence
Test

158. 4T, WY, Y& H1 TRl Gt RF g
Hunger, thirst, need for security all are motives.
(a) P Artificial (b) MU Acquired
(c) MNP Social (d) WIpidd Natural

159. BUH BHAI ATS-1 A&UN DI GERI TR SHRITUT HRAT 39
TPR RETHD UfIfha & -
The defense mechanism in which we attribute our
undesirable qualities to others is called

(a) dTGIHIBRUT (b) & Projection
Identification
(c) ﬁWDisplacement (d) 1;IT‘ﬁ'l?l"'I'JZIT-IRegression

160. RIS 9o & SIUR, fHRERI I TRE I Th

gl
According to the theorist Bakken, adolescence is a
as a whole.
(a) SIS ¥ political  (b) R e
incident philosophical incident
(c) IS °eT social (d) HRPfdd g cultural
incident incident

161.  TIUS (computer) B WIS BT HA | I SPH1de
ITT P S T8 &

What hinders the computer in doing its natural work is —

(a) SRHHT (bug) (b) Fe

failure (bug) Error . .
(c) dR™ d) TTHI DS T
virus none of these

162. UL &1 YANT fora Rueror amht & T & o 87
The use of blackboard comes under which group of
teaching materials?

(a) <= AR (b) % AU
visual content audio material
(c) TIT-YoT AR (d) vefta amEh

audiovisual material projected material

163. TE Rerp BT gl Il 3-
This is teacher's instructional material —
(a) HHTEH (b) TR AT

work book supplementary material

(c) Ucdd¥ (d) UTGdshH MSS

Page 13




Atlas course guide

164. TFHITD SIHA & fod =RUT I =it feam 71 uy Taifdd &2
o] TRAR BTY € & STaRAT AW 1 ge1sh H ST STt
¥
To which stage of cognitive domain does the question
given below relate? “Does frequent hand washing reduce
the incidence of diarrheal diseases?”

(a) THARM/IRAN0 (b) AL HRAT
assimilation/synthesis To apply
(c) fa=amm (d) Tedid
Analysis Evaluation

165. S & IIHH H, DIV ............. I ST 5l

In Bloom's hierarchy, skills are associated with .................

(a) TIHETH® SEA (b) FAROT AT
cognitive domain Psychomotivation domain
(c) wHId SE (d) Sudad Tt

all of the above

166. fFfeiad # ¥ fovd fafd & A1ead 9 U Rigiep o=l & I
BRI B> TGTdT & T §?
(1) B ®1 37 &1d R feld= B & forg drearfed & fb 9
FTHIA & S THTAT B 3R 37! A < BT g B
(Il) HTaTeHD I Ao Ugqsl o TTd-91Y id o
YIS G| Bl &M |
(I11) STTETR I & R H SR g
(V) o1 oA 1 IudT B S Wi, DIRTe SR
faera 1 @1 Sgrar < o fawa &1 94 ser|
Through which of the following methods can a teacher
stimulate thinking skills in children?
(I) Encourage students to reflect on what they do that is
effective and they should suggest names to these
process.
(1) Incline the focus on affective and personality aspects
along with cognitive factors too.
(Il) Emphasize mostly on knowledge about strategies
and techniques.
(IV) Use teaching strategies that foster the development
of thinking, skills and the mastery over the subject.

@@ I, 1L, 13V (b) 1, 1T IV

I 1L 1 and IV I, Illand IV

(€ LIV (d) I 13

I, Iland IV I, [land I

167. FHfifed # 9 31 e I fasRig a3 & g
TEAH O AT & T &5 7 9 T e 87
Which of the following is NOT one of the ten core areas
identified to develop life skills?

(@) AR YGRS F WY (b) TAHB O

effective domain

HbTadl Creative thinking
Coping with stress and
emotions
(c) H (d) TU=IT BT JHYH
Shyness Problem Solving

168.  Siiad HIxrd fba-t Iy AforT & faunira &2

Into how many general categories are life skills divided?
(@ 3 (b) 2
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() 4 d 5
169. o 143 15 99 B 3G T OFH J WFHTES (GBI BT
T AP o U Bl g, Oid ISP fabr FRRaR
) U BT B |

........ provides a comprehensive picture of cognitive
development from birth to the age of 14 or 15 years
when cognitive development attains the peak.

(a) UrGdE AR (b) TS &t o
Pavlov Theory Piaget's Theory
(c) IR (d) T R AR

Bandura Theory B.F. Skinner Theory

170. fofafad & 3 frem vRarfad fsan & & it 3 srm
HAER H G&idT BTRIA HRA & o TG Juaor ot
S §?
Who among the following proposed that the people
have also created 'psychological tools' to master their
own behavior ?

(a) oA oA (b) TheR® T
Jean Piaget Friedrich Engels
(c) AT (d) Sfeacdgy
Vygotsky Albert Bandura

171. Wﬁ$&‘l’[ﬁ\?ﬁww (Frustration) T JTHAT
A E, T8 8-

The main frustrations that deaf children face in the

classroom are —

(a) ! faafial & wry (b) iR UTeuga® ugA
ORYe B 967 H Srawei B sraHdar

Inability to appear in the Inability to read prescribed

examination along with other textbook

students

) WAHHMIAATAD  (d) [ % AT ST Rl
Srgefar I B 3o |

inability to participate in S oI sRrdar

sports Inability to communicate with

others and share information

172. foenfdal &t 9z Sfosaar @ Fued & 9 8 396 IR &
fFrafered § § HIH-91 BT F81 8- (a) faemdf uRus gd
2 (b) el D MR A SfR B IR F T&H B ©
faemdf arefik oiR TaeT=he g1 § (o) Iudad weft PRT KvS
04-10-2015 AR : (d) THg & I& URTR UH-gax ¥ 3f:
fopan B § oIP HRUT I9g & Tl b IIgR H
gRac gid Xgd ¢ | faenffal &t s wferaar @ fFuea &
1T I% Fe1 o Yovdhl & 5 & uRue, SR 7 Yaa=ia
3R 3y AT R H 3R B UM F Terd g1 &1 STIY e
o g iaential ot gig qichaar d Fued & o o
Bq%aﬁfrﬁiaﬁ@‘dﬁﬁﬁﬂ 1 HY el o-

Which of the following statements is correct about
students in order to deal with their group activism? (a)
Students mature (b) Students are able to differentiate
between good and bad. Students are impatient and
sensitive. (c) All of the above PRT KVS 04-10-2015 &I%':
(d) Group members interact with each other due to
which there are changes in the behavior of the group
members. To deal with group activism of students, it can
be said that they are mature, impatient, sensitive and
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able to differentiate between good and bad. Therefore,
in order to deal with group activism of students in the
class, which of the following statements is correct about

them —

(@) faemffufus g & (b) famdf oy TR F 3R

students mature PR U A G B &
Students are able to
differentiate between good
and bad

(c) faemdf oreR 3R (d) Sudad Tt

Yae=iid gid § all of the above
students are impatient and
sensitive

173. 98 B T VDIV & S SHI B Tplad =0 J gt
STETET BT SARABATSN DI T B & 1018 3T Bt fAfdy,
HHE- MY H&T H gyl 7

What is an approach that is important in today's diverse,
standards-based classroom to meet the needs of
culturally diverse populations of students?

(a) fafey e (b) TEIRPIa® A=
miscellaneous instructions multicultural instruction
(c) oafdd A& (d) wgHm e
personal instruction multilingual instructions
174. it Rienfiat 9o ugem & fog Rren vomeht & erar &t
T B b1 UiehaT bl T ET Sl & ?

What is the process of strengthening the capacity of the
education system to reach all learners called?

(@) HOH fRen (b) Udipd fRem
inclusive education integrated education

(c) SMaTadhdl 3neid Riem  (d) Piwra snenfa Rre
need based education skill based education

175.  o1el = Ul Bidll 8, ol ST Iy & fob-
When a child fails, it means that —

(a) ﬁﬁu@zwﬁ (b) TTRIBAELE
BRI the system has failed

The child should have taken

private tuition

(© TAUEEFRUAT () T IW P G WP
TIg ERICEHAERIE

The child is not eligible to The child has not memorized

study the answers correctly

176.  fErTIa Srom 7 @I Aart Teied R & S 3 S7R 9oy o
gmagag 3 Rienfigt § =raf wxcdt 31 5T gferard
Meenakshi takes her class on a field trip and after
returning she discusses it with her learners. It means —

(a) fRerur o1 geaich (b) TReror & forg geaiee

evaluation of teaching assessment for teaching

(c) Hcdid & forg fRremor (d) Hegih &1 fRigor

teaching for assessment teaching evaluation

177. U geuid & forg fufafea & § st &1/% oH-
W@mﬁmﬁaﬁmﬁmww%

|. 5 GRT UG TS BT &I G&Ioh! BI gl

I1. oy, axgett onfe &1 9ug
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III. =l &1 T Hedidh =fie & T

Which of the following students can be taken to work
for portfolio evaluation?

I. List of story books read by a child

II. Collection of leaves, objects etc.

1. Self-assessment seat samples of children.

(@) FHadll (b) | TATII G
Only Il Both I and Il

(c) I, @At (d) FHadl

I, Iland Il Only |

178. fufafad us &1 ufew- 1. 77 fparemary &t g fea-t

ST SATS? 11, A IS BT STEROT faraT 37 far| i,
R il a1 A Iv. 3 JIHd S 1 T2 SR ey
T ARI UPR & Tl F IR AT
Read the following questions- I. How well did | plan the
activity? Il. How well | followed the plan. lll. What were
my powers? IV. What did | find really difficult? The
answers to the four types of questions given above will:
(a) TI&® gRITTY 3Mbed (b)) oAl DI W-3Mba
overall assessment by teacher Children's Self-Assessment
c) RePiedr@-ampbad  (d) sl 3R by, gl &1
Self-Assessment of Teachers Xg-3h el
Self-assessment of both
children and teachers

179. Fofafad § 3 o a1 3 = § g sRur 3 Arar-far

30 St & A FRI&T HRIHH! & YT A & IR & W 52
Which of the following is a common fear that parents
have about having their children participate in sex
education programs?

(@) Ha-UaIsAe™>dsa (b G%s?m%ﬁsm
TE & &b HRIHH eI GIRIGRACIECAT]
REGIERIEEIEECE] et st
aET EﬂTIT 3R sm%m 3 They fear that their children
T faRlY R g will get wrong information.

Parents fear that such an

educational program will lead

to sexualization of children,

and so they oppose it.

(c) AU R F TR HEFH (d) A Tegd FRd &

ERRINICERIIIEIRES fob 59 oRE & B A
= B Yo F YT o YT ST ST ) 3
They think that children will Parents feel that it is not
participate in sex as an necessary to participate in
experimental activity in the such a program.
program.

180. fofafed & frad g waf= g7

In which of the following is the nation supreme?

(a) HRdH YMeId® A (b) YRd H G e

& fore Aer1 g &1 & fore I e sy
Ugell &R PISEIKHEN
The first level of planning Grass Root-Level Planning
framework for community Framework for Community
development in India Development in India
(c) HRd T UHeR® fdd™  (d) HRA § Ie® fdb™
CARICRRSNERISE]] & fore am Wi e
HEl HEl
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Multi-level planning
framework for community
development in India

Village level planning
framework for community
development in India

AT & 3R TR a1 21
¢ rreeerieeees is a school of philosophy that praises and
rewards group performance.
(a) fafry HRUER (b) FQTEATE
(Particularism) (Communitarianism)
Particularism Communitarianism
(c) IdHare
(Universalism)
Universalism

182. — Sl & WY BT HA 3R U & 3G
@A SR e & e 3T a1 &1 ' NaT 3|
a way of working with children and creating
settings for nature-friendly care and education.
(a) WPl AT (b) THTGROT ST
natural pedagogy environmental Studies
(c) UPfd AT (d) Yopfd TR fRreror

nature teaching nature based learning

183. Ff¥a iy § Ffdy foeht fawa &t ureaR fawa-axg &t
IR B FEA 8-

The outline of the lesson-wise content of a subject
specified in a specific time is called —

Individualism

(a) UTGTHH (b) P
Syllabus Course
(c) UIGIdYd (d)
content Program

184. TR & I 3IHT SN famer Rieror srdepy & SR
SIS &1 9 W 3fTd & 3 Pod o-
Those learning experiences which come spontaneously
in an unplanned manner during the school education
program are called —
(a) e UTsIHH
educational curriculum
(c) SifaRad ureusmH

additional courses

(b) HMAIT UTGIHH
humanitarian curriculum
(d) SIERIUIGIDhH
invisible curriculum

Bidil & | 39 HMHRRTT =4 J UgRI Sl § A [ 9ig H|
O YR arel TE Hf-FHR firerd a8 Rrem
There is very little attendance of the learning group
during the entire teaching session. In this, teaching is
done individually and not in groups. In this, groups of
learners meet occasionally, that is education

(@) A9 3MTRa SHfRTH (b) 3T fRraf

web based learning online education

(c) 3MTHTSY 3iferH (d) Tad Ud g fRren

virtual learning

186. H SHTURI B FHMT, UfaHT &1 UgaH, BT 3T,
TSt Fa, T Rieft R Sy o T RiRE 3-

Equality of educational opportunities, identification of

talent, work experience, national service, science
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(d) fadarg (Individualism)

185. T 141071 T F SR i aTa! Y &1 JUT 9gd A

open and distance education

SCHOLARS ACADEMY

education and research are the recommendations given

(a) TR ERT (b) PSR I gRI
by NPE by Kothari Committee
(c) UTRIU® gRI (d) Rremaffa gr

by NCF by education committee

187. IR faw= & Rieror H o fhed Suanf 82

Are historical films useful in teaching social sciences?

(a) AFFTTITRI R AHE  (b) S8 B Hicud AT H

Divsd B H U H Rifd s
focusing on personal In portraying history as
problems fiction
(c) TS foRIY qrHToIH (d) U 3BT TR Udd

TR & faftrs sl HHH

BT olg s & | in presenting a good
In giving a vivid depiction of  entertainment
various dimensions of a
particular social structure

188. S.st T AMINIG 31e0T- Hedich1 b1 I &1 82

What is the purpose of social studies assessment in S.st?
(@) THRTHSD (b) s BT A H dren
Ugdl- hHAl dividing children into
identifying problem students  categories
(c) Waafar e dieed (d) Rreo-sifem ufsharst &
DT YR T
encourage competition Improving teaching-learning

processes
189. BEA DI ..o U™ TR d 30 SHTH-UT & TITaR0T B
IER TP A U B
By teaching students about ................ , they are able to
understand the environment around them in a better
way.
(a) HETD dE (b) TS fHIR
outside the classroom sea shore
(c) Hemd (d) vanTRITEr o
in class in the laboratory
190. FI:[e® 3R ifard R ifieR (RTE) W, 2009
.......... ﬁ 31 & T & T R AR BT 2|

The Right to Free and Compulsory Education (RTE) Act,
2009 applies to children between the age of ...........

(a) 0-64IcT (b) 14-3591d
0-6 years 14-35 years

(c) 6-189Idd (d) 6-14 9l
6-18 years 6-14 years

191. U 3= Tded & Uy 9§ fbad gfg gt 82

What is enhanced by the influence of a good supervisor?

(a) el & w9 & (b) WHEIRS I
STUTT community satisfaction

Time compliance among

teachers

(c) Trenflat ot umfa

(d) UreI-geTHt fbanat |
Learners' progress NI CAR
Participation in co-curricular
activities
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192. faererdl ) THTSIHRU & Hg & ¥9 § A § i o
T BT ETI B &

Schools are considered as centers of socialization
because they help children in -

(a) TIRGI & EUH sl (b) Hedl 3R TRORISH &Y
ga TUI FRA |

develop as citizens adopting values and

traditions
() TASIH U YAHIF (d) THIA W HA A
gfdl ForT g o a8 T &1 S
To be aware of one's role in W%
society To acquire knowledge

through which they can
understand the society

193. g & HH-f o<t et el °2

Which of the following pairs is not correct?

(a) TRI&UI-G: TRI&r: (b) fAUTSH-3MYT: AR
fRRar Frfar
Test—Retest: Stability

(c) KR20 RR@r
KR20 stability

194. U &7 & 3[R & U &) e & 3l uer W@ 21
3 f=R # ‘& &1 1 BT =MBT?
Teacher ‘B’ is currently teaching the lesson on the history
of a region. What do you think ‘B’ should do?
(a) Tl wra srafdal o (b) Tafia et & Afaddl
FHATSA U1 ’ TR YebTRI STeT
W YDIRT STl Throwing light on the
Highlighting similarities and  personalities of various rulers
changes across different time

Split-half: internal
consistency

(d) HMHER AT JHHEAT
parallel structure similarity

periods

(c) SERIFTHAYN DB (d) IIHM DI YdbTd 4
faenfial & arg A & AT TR USRI
fore tieanfed &= STerT

Encouraging students to
remember the main

Highlighting parallels
between the present and the

symptoms of periods past
195. .St Hefl-we | U&UTd, GUId 3R Yarig! & s gRI
R o o gahdr 82

By what can bias, discrimination and prejudices be
removed in the S.St class room?
(@) AMGAI R UG ARAM  (b) I a1di IR & A

BT TS PRb SR, Hifd o= Tp—A-
By organizing a lecture on Ta fa 304 39 35
humanity B[S <N

By not paying attention to
their words, because one day
the children will leave them

on their own.
(c) UHINIG aRdfddmarsti & (d) IfdU™ & ST S U=
faftrer smaml & SR A IRb
uferaf HRdb by providing the preamble of

By discussing various the Constitution

dimensions of social realities
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196. SstH WW (Formative evaluation) &d fosan
T 37
When is formative evaluation done in S.st?
(a) WA T (b) TE-IPTE P UGH H g4
at the end of the session Before teaching a new unit
() ev-frmuipad (d) PR P dd
ERM at the end of the unit
During the teaching-learning
process

197. 39 g &I g ol &8 T 1 Dl Ui R Feb-

One who drives a motor—car
Choose the word that can substitute the given sentence./
One who drives a motor-car

(a) panacea (b) besiege
(c) chauffeur (d) pedlar
pads

198. @AY HH-TT 3 YO 7 FHST el § S o=
3R TRl BT SedT g

Which of the following is NOT an International
declaration or agreement that links children and
environment?

(a) Sit-8 TfaRur w1
TR (2001)

G8 Environment Ministers

Communique (2001)

c) T & BRI BT (d) Sfaw fafqyar gwieH
JHEH (1989) (1992)

Convention on the rights of ~ Convention on Biological
the child (1989) Diversity (1992)

199. el BT aranal 3R I B BRI H iR ITH
JYR dH & fore fewg ford U IFFR, SR,
THITH, BT Y=l sare fead fia @ 2
What includes seminars, workshops, conferences, classes,
exhibitions etc. designed to develop and improve the
capabilities and knowledge of teachers?

(b) 3T TSIST (1990)
The Habitat Agenda (1990)

(a) TR e wrdcpm (b) g e FrfsH
continuing education adult education program
program

(c) arpIcid e URIeor  (d) Ha1-gd e uiRigmor

in-service teacher training pre-service teacher training

200. HIURTST HT IUINT T 57
What is the use of copyright?
(@) SARAFHARMEAT (b) UG =0 ¥ [l Bt
sharing work online BRI BT ITTNT HIAT
using someone's information
confidentially
(c) WSH JuST S gIWNT  (d) Bt & HW B e
EEEIE geoT
Protecting intellectual
property from misuse

saving one's work online
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